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1. In the basic EOQ model, if ordering cost increases from 1000 to 2000 dollars,
the EOQ will: (A) double (B) increase, but not double (C) decrease by a

factor of two (D) remain the same

2. In a supermarket, the every Monday morning restocking of shelves by a bread
vendor 1s an example of: (A) safety stock replenishment (B) economic order

quantities (C) reorder points (D) fixed order interval

3. Periodic updating of an MRP system to account for all changes which have
occurred within a given time interval is called:(A) pegging (B) planned order

release (C) net change (D) regenerative

4. A report which shows expected capacity requirements for current, planned, and
expected jobs 1s a: (A) load report (B) master production schedule (C) bill of

materials report (D) MRP schedule
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Given the information below, determine the following:

1. Processing sequence using SPT, EDD, and (dynamic) CR rules, respectively.

2. Compute total job tardiness using SPT, EDD and CR rules, respectively.
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Processing Due date

Job Time (hrs.) (hrs.)
A 17 25
B 10 35
C 6 30
D 7 42
E 8 32
F 11 48
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